Answer on Question #57171 — Math — Calculus

Which functions in the table below give values that could not come from exponential
functions?

X 3 2 -1 0 1 2 3
f(x) 067 1.11 1.82 3 495 815 13.45
g(x) 0125 025 05 1 2 4 8

h(x) 025 05 075 1 125 15 175
k(x)y 64 16 4 0 025 0.0625 0.0156

Solution

The function f(x) is exponential, its approximation is f(x) = 3e%5* (approximation error
does not exceed 0,007).

Plot of f(x)
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g(x) = 2% is exponential;

Plot of g(x)
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h(x) = 0.25x + 1 is linear;



Plot of h(x)
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The function k(x) is not exponential, because an exponential function is strictly monotonic
(either increasing for all x or decreasing for all x), but the function k(x) is decreasing on

—1<x<0, 1< x < 2,thefunction k(x) isincreasingon 0 < x < 1.

Plot of k(x)
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Maybe there is a mistake in the description of k(x). If values of k(x) were
-3 -2 -1 0 1 2 3
64 16 4 1 0.25 0.0625 0.0156,

k(x) = fxwould be exponential.

Answer: h(x), k(x).
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